61

1005 AW RBM—T A B

61

65

30

(RET)

64

64

Al C2 B2 Cl1 A2 A3 B1
B EA| [ KR Bl [k 8] | [JTE &% | [ T & | [Tk Be | [mERE
A DI L&L [AOEHELR| |  STC TVAT—U| | BT =A L&L
e O<H | KR mr | | R AE | % A [RE A3 IR BEA | LA 6r
A ODEHER L&L A DFEHEE Yo 57— | |[FVRT—Y | FHRT=A L&L
LR E R
miE KR | RE AE o B EA | EH o<H
FOMER | AOMEER Lwo AOMEIER | AOMERE
RN AN =2 — KT R | RE A3
L&L L&L FVATF—V | FVRTF—D
= i KA] | B AKE
n AR | AoMiEE
. PR AR R
L&L L&L




100 LA E B h—F A b

64

62

60

(RET)| 32
63 64
G2 H2 El F2 D2 Hi1
ME F#F—|[=F &b [AE £x KE B | [5l 12— | [BAH WHE
JKC i —tA= Tv¥—X | IFVARF—I [TLAF—
K8+ [0 HE] (&K B+ K= FHie | [ex Ak FRA [/ B
VeV e VxRV Sof—X | VAT [TV ATF—
SATRER
I TES e HTRZE] && BT
IvF—A |64 VAT —) STC
T B '_ — A o | =R J6r
S FLaF— FNeRT L&L
= ¥ B | bR nr
- JKC IvF—2R
TVAT—V| VATV




100®% ki

AJOwvY
No. %H;éé% %ﬁ;éé%) 1 2 | 3| 4| 5 | B 2| IEs
fE EA Bl HH
e 62 | 61 | 61 | 60 | 4 i
2 ?E/”;Gf = EIE/B X‘_’_'_:_éé 26 63 | 62 | 61 | 3 2
il #E il ERE
SF=Rmaok [7=Roavk | 0| S e I !
IR BRE] IR HBEF
Namr—z  |Bhr—2x 0§ 2| 62 ll ¢
LS R EHF
oo [zoaoy—px] % | 10| 3% | % L °
B OwvY
No. %“géé%) %ﬁ'}%é:ﬂ 1 sl 3| 4| BB Bz
e EH 828 BF
e s AL EI RN 7
i
2&75% f£%0 E;';E' thf 63 60 | 65| 3 | o 1
&2 BH 8 EE
. BreakOut BreakOut = 0 0 g 3 4
S &8 WE A=
NEogzs  |roRzz sl LR 2 | 1 2
cows
No. %ﬁ%%%) %F"’%é% 1l 23|l alm|ea B
i ’S”Tf RHE Egj’ﬁfff'& 64 | 65 | 65 | 3 | 0 1
2 %53_?%% f;{%j__&;% 46 16| 26| o | 3 4
3 Sf ES sz i 56 | 61 65 | 2 | 1 2
4 E?/j*‘g*” ﬁ‘ilff 56 | 62 | 56 1] 2 3




100 L E

DJOvY

No. %‘ﬁ%%%) %ﬁg}g%%) 1 2 3 4 | B | B | BXR|IER
1 f{i fie gii”j 63 | 61 | 60| 3 | O 1
3 gﬁfi gﬁ;i&g 1646 || 62] 1| 2 3
4 g%;{m Ef;ﬁi% 06 | 16 | 26 o | 3 4

EJAYY

No. fﬁg%?) %ﬁg)%*) 1l 2] 3| 4| a|Bx|Ek
1 f%)&f fffmﬂf¥ 63 | 62 | 62| 3 | 0O 1
2 ?fxff/ ;gll?xf;*fg 36 62 | 65 | 2 | 1 2
3 g*i__f@% E”JK/ f} 26 | 26 26| 0 | 4 4
4 ;ﬁf’xi—;_/ TE‘XE%T 26 | 56 | 62 1] 2 3

EJEy

No. _%ﬁg)%*) _%jg;g*) 1l 2] 3| a|m|a|ex|E
1 F;?fxf_a/ fﬁ_ AF 62 | 61 | 63| 3 | 0 1

Ao =

2 &M‘tﬁ_ JB'H'r ffk(f\t 26 46 | 56 | o | 3 4
3 ;ﬁxihj/ ;‘fx%_/ 16 | 64 26 | 1 | 2 3
4 ?ﬁj"; ?iff 36 | 65 | 62 2 | 1 2

GIRE.

No %ﬁ%é?) %ﬁ%é;) 1l 2] 3| 4| | & |Bx|Ek
1 flj/”xf_%/ _851%3 SF 62 | 61 | 62| 3 | o0 1
2 ﬁﬁ BES f”fﬁ ZBF | 5 46 | 06 | 0 | 3 4
4 fJ'LJé == fﬂ;f‘f% 26 | 60 | 63 2 1 2

HOOvy

No. %ﬁ'%%% %Eg)_%% 1 2 3 4 | B | & |BX|IEL
1 ;;fﬁ— I_Eg_ BT os (65 |65 2 | 1 | 2] 3
2 ﬁf__ffm i‘:’f;ﬁi 62 63| 36| 2| 1 |+] 2
4 ffzf%/ g? l"’/%/_,\fﬁ/ 56 | 63 | 64 2 | 1 | ] 1




